Answers Day 1

MATCHING WORDS

- ) 2-( ) 3-(C ) 4-( ) 5-( )

Answer Key: 1l.cart-d 2. cartrunk-a.3. Trafficcone-c 4. umbrellas-e B.trashean-b



PART 5 STRATEGIES

¢ STRATEGY 1' Read all of the 4 cheices before reading the sentence. Know the two types of answer choices.

Example 1

The recent increase in tourism has done less to improve the business of small retailers in this area than we ......... ...
predicted.

(A) original (B) originated (C) originally (D) originality

Example 2

Conference participants interested in industrial development should... ... .......... schedule a visit to Auckland’s
factories.

(A) recently (B) definitely (C) practically (D) fortunately

¢ PSTRATEGY 2© TIME MANAGEMENT

Example3 Heisa.......... person (creative/ create/ creation/creatively).

Example 4  You have tothink ... ......... (Creative/ create/ creation/ creatively).

Example 5 [ would like to propose the ... ... ... .. of a new project (creative/ ereatef creation/ creatively).
Example 8  Nuclear warfare could destroy all ... ... ... ... (creativef create! creation/ creatively).
Tixercise

1. The report stresses the ... ...... ...... of eating plenty of fresh fruit and vegetables.

(A) necessary (B) necessity (C) necessarily (D) necessitate

2. The human resources manager who interviewed the candidate over the phone said that she lacks the
oo venvennn G8kKills for the job,
(A) necessary (B) necessity (C) necessarily (D) necessitate

3. The fact that something is cheap doesnot ... ... ... ......mean it is of low quality.
(A) necessary (B) necessity (C) necessarily (D) necessitate

4. Reduection in government spending will ... ... ... ...... further cuts in public services.
(A) necessary (B) necessity (C) necessarily (D) necessitate

5. Rates for the use of recreational facilities do not include tax and are subject to change without ..................
(A) signal (B) necessity (C) repart (D) notice
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